ZYXEL

NXC2500
Wireless LAN Controller

v,
s sy,

G s
S,

Quick Start Guide

ENGLISH | DEUTSCH | FRANCAIS | ITALIANO
ESPANOL | SVENSKA | PYCCKUW | @&fEchxt
ghediy

n Hardware Installation

o ——
== ) B9 Er ey

foerel
| y "
[T

[
P1-P6
J b
(PoE |
O
s
v
POWER
ON
consae O n
® PN ® L @
CONSOLE POWER

H

(Optional) e

O

n Initial Configuration

e Username : admin
@ http:/19216811 6 Password : 1234 (default)

Al[e]lx]

@O [ & http//19216811

ZYXEL
NXC2500

Password 1234

Login

@0 5l

Wizard Setting

ZYXEL nxcasoo
Welcome to the Setup Wizard

Time Zone Country Code: |:]

Country
Code

Uplink
Prev Cancel

Rack Mounting

Support Information

North America France
USA

¢ +1800 255 4101
= support@zyxel.com

& +33(0)472529797
® support@zyxel.fr

UK Italy

& +44(0) 118 9121700 & +39 0112308000
= support@zyxel.co.uk ® support@zyxel.it

Germany

& +49(0) 240569 0969
® support@zyxel.de

See the User's Guide at www.zyxel.com
for more information, including customer
support and safety warnings.

EU Importer

Zyxel Communications A/S

Gladsaxevej 378, 2. th. 2860 Sgborg, Denmark
http://www.zyxel.dk

US Importer

Zyxel Communications, Inc
1130 North Miller Street Anaheim, CA 92806-2001
http://www.us.zyxel.com

Copyright © 2018 Zyxel Communications Corp. All Rights Reserved.

@ @ Connect to a PC for initial configuration.
Connect to a modem/router for Internet access.
Connect to a PoE switch to supply power over Ethernet to a
managed AP.

@ To configure the NXC2500 using commands, connect to a PC with
terminal emulation software configured to the following
parameters:

« VT100 terminal emulation

« 115200 bps

« No parity, 8 data bits, 1 stop bit

« No flow control

Connect to an appropriate power source.

@ @ SchlieBen Sie das Gerat flr die Erstkonfiguration an einen PC an.
SchlieBen Sie das Gerdt fur den Internetzugriff an ein
Modem/einen Router an.

SchlieBen Sie das Gerdt an einen PoE-Schalter an, um einen
Managed-AP Uber die Netzwerkverbindung mit Strom zu
versorgen.

Um den NXC2500 mit Befehlen zu konfigurieren, schlieBen Sie ihn
an einen PC an, bei dem die Terminalemulationssoftware auf die
folgenden Parameter eingestellt ist:

« VT100 Terminal-Emulation

« 115200 Bit/s

« Keine Paritat (Parity), 8 Datenbits, 1 Stopp-Bit

« Kein "Flow Control" (Datenflusskontrolle)

SchlieBen Sie das Gerdt an eine geeignete Stromquelle an.
Connecter a un PC pour la configuration initiale.

Connecter & un modem/routeur pour accéder & Internet.
Connecter  un commutateur PoE pour alimenter par céble
Ethernet a un point d'acces géré.

@ Pour configurer le NXC2500 & I'aide des commandes, connecter &
un PC avec le logiciel d'émulation de terminal configuré sur les
parametres suivants :

« Emulation de Terminal VT100

« 115200 bps

« Sans parité, 8 bits de données, 1 bit d'arrét

« Aucun controle de flux

Connectez a une source d'alimentation appropriée.

m @ Connettere a un PC per la configurazione iniziale.

Connettere ad un modem/router per l'accesso a Internet.
Connettere ad uno switch PoE per alimentare tramite Ethernet un
PA gestito.

Per configurare l'unitd NXC2500 usando comandi, connettere ad
un PC con un software emulatore di terminale configurato coni
seguenti

parametri:

« Emulazione di terminale VT100

+ 115200 bps

« Nessuna paritd, 8 bit dati, 1 bit di stop

« Nessun controllo di flusso

Collegarsi a una fonte di alimentazione appropriata.

Open your web browser.

Log in and use the wizard to set up your NXC2500.

Starten Sie Ihren Webbrowser.

Melden Sie sich an und nutzen Sie den Assistenten, um Ihren
NXC2500 einzurichten.

®
@
®
@ Ouvrez votre navigateur web.
®
@
®

Connectez-vous et configurez votre NXC2500 a l'aide de l'assistant.

Aprire il browser.
Accedi e usa la procedura guidata per configurare il tuo account
NXC2500.

@ (1) M4 flat head screws (included).
@ Rack-mounting screws that come with the rack.
@ (1) M4 senkkopfschrauben (im Lieferumfang enthalten).
@ Mitgelieferte Schrauben flr die Rackmontage.
@ @ Vis & téte plate M4 (incluses).
Vis pour montage en rack fournies avec le rack.
(1) Viti M4 a testa piatta (incluse).

@ Viti di montaggio su rack che vengono fornite con il rack.



ZYXEL

NXC2500
Wireless LAN Controller

Quick Start Guide

ENGLISH | DEUTSCH | FRANCAIS | ITALIANO
ESPANOL | SVENSKA | PYCCKUW | @&fEchxt
ghediy

n Hardware Installation

| ) p—
23y o I K [ [ " M " .
e | %2 M) FFEIFE 7 5 7

[

P1-P6
J Y
_PoE_
——
s
v a9
POWER
ON
coNSOLE O n
® @‘ ® £ o ©
CONSOLE POWER

H

(Optional) e

O

n Initial Configuration

e Username : admin
@ http:/19216811 e Password : 1234 (default)

@ @ | http://19216811

ZYXEL
NXC2500

Password 1234

Al[e][x]

Login

A][e]x]

 ©0)]

Wizard Setting

ZYXEL nxcasoo
Welcome to the Setup Wizard

Country Code: |:]

Country
Code

Time Zone

Uplink
Prev Cancel

Rack Mounting

Support Information

Spain Russia

¢ + 34911792100
= soporte@zyxel.es

& +7(495) 539 9935
=® info@Zyxel.ru

Sweden Taiwan

, + 886227399889
=® retail@zyxel.com.tw

& +468557760 60
=R support@zyxel.se

See the User's Guide at www.zyxel.com
for more information, including customer
support and safety warnings.

EU Importer

Zyxel Communications A/S

Gladsaxevej 378, 2. th. 2860 Sgborg, Denmark
http://www.zyxel.dk

US Importer

Zyxel Communications, Inc

1130 North Miller Street Anaheim, CA 92806-2001
http://www.us.zyxel.com

Copyright © 2018 Zyxel Communications Corp. All Rights Reserved.

@ @ Conectar al PC para la configuracidn inicial.
Conectar al médem/router para el acceso a Internet.
Conectar al conmutador PoE para suministrar energia por
Ethernet a un PA administrado.
Para configurar el NXC2500 usando los comandos, conectar a un
PC con software de emulacion de terminales configurado con
estos pardmetros:
« Emulador de terminal VT100
« 115200 bps
« Sin paridad, 8 bits de datos, 1 bit de parada
« Sin control de flujo
Conecte a una fuente de corriente apropiada.
@ Anslut till en dator fér grundinstdlining.
Anslut till ett modem/en router for Internet-adtkomst.
Anslut till en PoE-brytare fér att f& stém via Ethernet till en
hanterad AP.
For att konfigurera NXC2500 med kommandon, anslut till en
dator med terminalemuleringsprogramvara som konfigurerats
enligt féljande parametrar:
« VT100 terminalemulator
« 115200 bps
« Ingen paritet, 8 data bits, 1 stop bit
« Ingen flédeskontroll
Anslut till en Idmplig stromkalla.
@ MOAKMIQUUTECH K KOMMbIOTEPY AN NPOBEAEHMS NEPBUYHOI
HaCTPONKMW.
MoaknounTech K MOAEMY/MapLUpyTM3aTopy ANS 4OCTyna B
NHTepHeT.
Noakntounte kKoMMmyTaTop POE ANns noaayv nuTaHus K
ynpasnsemoit T[], no kabenio Ethernet.
[ns HacTpoviku NXC2500 nocpesiCTBOM KOMaHA NOAKIIOUUTECH K
KOMMbIOTEPY C NPOrpaMMon SMyaLUM TEPMUHANA, B KOTOPOK
HacTpoinTe cneaylolme napamMmeTpbl:
® OMynaumsa TepmuHana V1100
e CkopocTb nepeaaun 115200 6oa
e 6€3 KOHTPO/A YETHOCTK, 8 6BUT AaHHbIX, 1 cTON-6MT
e 6e3 ynpaBneHns NOTOKOM
MoaKNYMTE YCTPOUCTBO K COOTBETCTBYIOLIEMY UCTOUHUKY MUTAHMS.

(CN JOR:E £Lle L‘li&ﬁ?ﬂ%?ﬁﬁ% .
;

©

L3 2 I 82 e/ B8 B as LU D R N -

Y% 2] POE 53 4| - 3 LUA M S & AP #eg -
@ EBEEHZEE NXC2500 - &5 AL IR EIRIEERT PC - RIS
HiEmR
« VT100 & w83k
115200 bps y n
cFHBRE - 8 MR - 1 MBI
- TRE
@ EEIERESENEE
@) O EzEmeTNSRE
B IE BRI .
3B1% PoE A% - 1B, K WA BAZEIRM AP -
(@) ZEEAESBRE NXC2500 - 313 EEA K i (5 B Bh -
RiEmN el L8
SVTI00 41 1 58
+ 115200 bps i i B o
-RENBE  SHENSSEENMT - LEFIKGT
< FOmE T

@)
i3
i
i
B
ik
S
8
Bl

@ @ Abra su explorador de web.

@ Inicie sesion y utilice el asistente para configurar su NXC2500.

@ (4) Oppna din webblasare.

@ Logga in och anvand guiden fér att stalla in NXC2500.
@ (4) OrtkpoiiTe Baw Be6-6paysep.

ABTOPU3YWATECH M C MOMOLLbIO MacTepa yCTaHOBKM HacTpoiTe NXC2500.

®
(4) $TFF web %88 -

6 BRFERESBBMHH NXC2500 -
(@) BRGHAEIEES -

(5) EALEEBERRE NXC2500

Tornillos de cabeza plana M4 (incluidos).

Tornillos de montaje en bastidor incluidos en el bastidor.

M4 skruvar med platt huvud (ingar).
Rack-monteringsskruvar som levereras med rackenheten.
BuHTbI M4 C NnocKoi ronoBkovi (B KOMMIEKTE).

BWHTbI 4711 CTOEYHOIrO MOHTaXa M3 KOMMEKTa KpernaeHuin CTOMKM.
M4 S SLiR 22 (B 5)

MR HERN R E K E L -

M4 FFEIR % (ES)

BERN IO 2RI Z R IR 44 -



